HOME Easter Egg © Jane Eborall 2019

Click here for larger picture
Abbreviations

R ring Ch chain Cl close vsp very small picot
+ join RW  reverse work T&C tie and cut
Lj lock join SCh split chain

Materials required. Size 20 thread, 7 bugle beads or rice beads measuring %", 2 size 10
seed beads, 2 shuttles. Add 5 yards to shuttle 1 and 2 yards to shuttle 2 (same colour on
each). Bugle/rice beads can be substituted by using seed beads. Measure how many seed
beads equal 4" and use in their place.

Note - for those who prefer front side/back side tatting the text in italics and red indicates
where the worker needs to use the second half of the ds first.

Round 1

Fig. 1 4 /
& Fig. 2 Fig. 3

R1: 3 vsp 3 add bugle beads as follows (and see above)

2 bugles for top of egg, 1 bugle 1 seed for top right side, 1 bugle, 1 bugle, 1 bugle, 1 bugle
1 seed for top left side.

Continue R1 with 3 vsp 3 CI RW

Ch: 4 vsp4RW

*R2: 3+ (R1) 6 vsp 3 CIRW

Ch: 4 vsp4RW

R3: 3 + (R2) 3 + (bugle bead with B) 3 vsp 3 CI RW
Ch: 4 vsp4RW

R4: 3+ (R3) 6 vsp 3 CIRW

Ch: 4 vsp4RW

R5: 3 + (R4) 3 + (next bugle bead) 3 vsp 3 CI RW
Ch: 4 vsp4RW

R6: 3 + (R5) 6 vsp 3 CI RW

Ch: 4 vsp4RW

R7: 3+ (R6) 6 vsp 3 CI RW

Ch: 4 vsp4RW

R8: 3 + (R7) 3 + (next bugle bead) 3 vsp 3 CI RW
Ch: 4 vsp4RW

R9: 3+ (R8) 6 vsp 3 CI RW

Ch: 4 vsp4RW

R10: 3 + (R9) 6 vsp 3 CI RW

Ch: 4 vsp4RW

R11: 3 + (R10) 3 + (next bugle bead) 3 vsp 3 CI RW
Ch: 4 vsp4RW
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R12: 3 + (R11) 6 vsp 3 CI RW

Ch: 4 vsp4RW

R13: 3 + (R12) 3 + (bugle bead with B) 3 vsp 3 CI RW
Ch: 4 vsp 4 RW

R14: 3 + (R13) 6 + (R1) 3 CIRW

SCh: (to base R1) 4 / 4 continue to

Round 2

SR15:vsp 4 / vsp 4 CI SS
Ch: 12 Lj (vsp Ch before bugle with B) * 8 Lj (vsp next Ch) Repeat from * 10 times
Ch: 12 RW

R16: 4 + (vsp next Ch) 4 C| RW
Ch: 8 - 8 T&C to base SR1
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